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1, I'a'ﬂ‘dﬁﬂLLﬁ:LﬁWL%Hﬁmmamm%a“l.ﬁa a8 (65.75) 25 (34.25)
2. Tsatnuazwintesifinleviala nszte unz wne GE 66 (90.41) 7 (9.59)
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1.T'iﬂ‘thnu,a:LﬁﬂtﬂaﬂﬁﬂﬁlﬁﬂmﬁqmLﬁaﬁw"lﬁﬂuﬂﬁuiﬂuu 0 (0) 0 (0) 0 (0) 2 (2.74) 71 (97.26)
Z.m‘iLUﬁﬂuimtﬁﬂLLmﬁjumﬁhﬁaﬁauﬁﬁﬂﬁuﬂﬂﬂ% PlGT 0 (0) 1(1.37) 1(1.37) 20 (27.40) 51 (69.86)
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n0 = N/ (1+N(e)2 )

n0 = AUIUMBDEN

N = $7uulszansidn (2,437 578)

e = AAnuAaIRLAFaUTIfMUALY 5% (0.05)

Frdmuns sdun nuna rndsuni iy $% o2 181 0,08 imun

. ' Mmnuadednluarweamiadaussdud
+1% 2% 3% 4% +5%
100 @9 o5 92 86 80
200 108 185 169 152 133
300 9 268 238 203 171
400 385 345 pall) 244 200
500 | 476 | 417 | 345 | 278 | 222 |
1,000 909 714 526 385 288
2000 | 1667 | 1111 714 476 | 333
4000 | 2857 | 1538 | s70 | se1 | 364
6.000 | 3750 1 766 938 566 375

Sample Size Table

a5 1Y e = .05 Tugasonunninayauiadsyannsivaiiuliiaag sample size M5
Annarleay converge getaz 400 udaiaseqn lusasidanardAiuia 14 n=400

1diag auq 555+ (aavgeswasdaiuai)

population sample size (e=0.05)
1,000 286
10,000 385
100,000 398
1,000,000 400




https://www.activityinfo.org/support/docs/sampling/snapshot.html

Measuring a percentage

Population size

‘

If you do ot know the population $ize, you can wie a large population size.

What is your best estimate of the true value of the percentage?

30 ?‘

If your do not have an estimate, use 500 1o be consenvative,

How precise do you need to be?

*2.5% -

Required sample size

7R85

You can expect results like:
= Between 8% and 13%

* Between 23% and 28%
* Between 48% and 53%
* Between 73% and 78%




Formulas

This calculator uses the following formula to find the required sample size:

m

n — 1

m—
14 N
Where m is the sample size required for a large population, and N is the actual population size.

The required sample size for a large population is:

zﬁ;gﬁ(l _ ﬁ)
2

i —
€

Where p is the expected proportion in the population, € is the allowable margin of error, and zf‘t /2 is the z-Score that corresponds to the 95% confidence level.
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